RECCORD ATH YEAR 1890 LEAGUE _S TEAM ATH
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gHYr=- NO-  ONE-
WON LOST SV PCT CG DUTS HIT _ HIT
1

CATE CPP INN—PITCH HIYS RUNS ERNS HR BB
6/03__ COL 14 14 12 ___ 1 T
0/02 CCL b4 10
__0/04  SYR 8 7
0704 D SY¥R 7 &
Q/C8 ROC 17 17
C/0S RCC 7 10
o/ll S YR 19 16
c/11 SYR 17 15
0/12 SYR lé 12
4717  ROC 13
4718  ROC 13
4719 RCC 6
4/21  RCC 12
4422 SYR 12
4723  SYR 14
4727 SYR 6
4728 ‘SYR 3
4/30 SYR 15
5/02  RGC &
£/03  RGC 12
£/C5  AQC 7
5707 BRC 9
5/0% BRG 3
5/1C  BRO 10
/11 ARCO
€/12 8RO
5/1& LQu
5717 LCU
5/18  LCy
5719  LOW
5421 TOL
5722 T0L
5723 TCL
5723 D IGL
5424 STL
5725% STL
5421 STL
57271 0 SiL
s/3¢  COL
5730 ¢ CAL
5/31  CGL
6/01 COL
5/C3  SYR
£/C5 SYR
6707 ROC
6/CE  RLC
&£/05 ROC
¢/1C  AGC
6/13  BRQ
&f/1l4  BRQ
&£/15 BRC
6716 BRQ
6/17 BRO
&6/18 BRD
6/18 0 BRE
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CTEAM_PITCHING RECORD

ATH

LEAGUE _§ TEAM ATH_

L

=S

SHUT— NO= .
CATE  OFP INN—PiTCH HITS RUNS ERNS BB K WOK LOST OUTS HIT
L 6419  SYR_ ~ 10 2 2 1 5 1 2 .
T &/ 20 SYR g | T & 5 2 T Hu
6/22 __SYR g 5 3 2 3 1 | 3
€723  SYR 9 i6 7 6 5 3 1 1 7
¢/22 0 SYR 7 g 4 2 6 4 1 1 &
€724 REC g 13 & & 3 1 1 1 &
/25  ROC B 9 g 5 3 4 1 8
6726  ROC 9 8 2 ] 2 T 1 1 2
6/28  TCL g 7 3 3 3 7 1 1 3
6730  TcL & E] 9 7 Z 5 1 1 g
7/G1  TCL 9 8 1 1l 5 1 1 1
7/02  TCL B 8 5 4 5 A 1 5
1/G4 _ €0L _ _ g 8 1 0 4 & 1 1 ®
U 7/C4 0 GCL 9 g 7 7 5 3 T m
7/05  ¢CL 8 12 10 a 5 3 1
/06  COL g & % 4 % 7 L [
7/08  LGL 8 10 L0 0 3 4 1 1
7/7¢5  LCu 8 7 3 2 % Z 1 1
/10 LCy 8 17 12 0 3 2 1 I
1712 LGY ] 10 8 3 5 2 1 1
7713 STL 1 15 7 Q 3 7 1
7715 STL 9 7 6 6 9 3 1 1 $
/16  STL g 23 9 o 1 1 1 .
717 STL 3 3 3 3 i Z 1
7/19  STL 8 12 g g 2 3 1 1 I
1y 7720 STL 8 13 5 5 % 1 1 I T
7721 STL 8 16 8 g 3 1 1 '
7722  STL a8 17 9 8 % 1 1 1 ®:
7/23  LOU 8 & 6 1 1 7 1 L |
1724  LCU g 13 7 2 r3 2 1 I
1/26  LGU 9 4 1 0 6 1 LK
7727 T0L 9 8 5 5 5 P i
1/28  TCL 3 10 7 7 6 0 1 1
/25 TGL 9 2 0 C 3 5 1 ]
7/30  1GL 9 9 7 & 5 4 1
T/3L CCL g 11 g r % Z 1
8702  CCL 8 5 3 q 4 4 1 1 @
T 8703 CGL 9 T ) 1 &5 5 L I'b
as05  CoL g 18 19 0 5 2 1 1
8/06  CCL 9 i4 12 9 3 2 3 1 o
/08 TCL 9 7 3 2 3 8 L
8/10  TGL g 7 7 5 7 Z 1
8/11  JGL 9 10 é 5 4 6 1 1 @
B/14  STL g 7 6 1 5 % 1 1
. Bf1& ST g 17 12 11 2 3 1
8717  STL 5 7 2 1 i % i @
8/21 LCu 8 & 2 0 3 3 1 1
6723  RGC 9 a 9 5 Y 6 1 i
8/25 RCC 1 10 4 3 2 8 1 @
T] 8/2&  ROC 9 13 11 7 4% 2 1 ™
B/27  CCL 9 8 3 2 2 4 1
6/28  CCL 8 22 Z1 & 3 4 L
8/30 COL a 1 a 2 5 6 1 i
8/30 0 COL 8 12 T 2 ] 4 1 1
8731  SIL 8 12 5 5 .3 1 1

B r & N T W0




v W TEAM_p ITCHING_ RECGRD ATH YEAR 1890 LEAGUE _$ TEAM _ATH

SHUT— NO~  ONE-

WON LOST SV PCV CG OUTS  HET  HIT  SCORE
1 7= 2
4—10
2- 8
0= 7
b— 9
2= 5
4= 2
618
&— 0
1- 5
4— 9
4=22
0-10
4—12
~16
2—21
3-15

EE
3-15
9=11
1-15
2-14

DATE CPP {AN=PITCH FITS RUNS ERNS
YA S — 5 2
s/C3 LEL 11 10
5704 LOU 10
S/0¢& LCY 10
/017 ICL 9
9/L8 TCL 7
9/13 BAL 10
9712 BaL 13
9714 BAL g
Sf1é BAL 10
S5/19 LOu 11
9720 Ldu 22
9/2Q 0 LOY 15
CYFE LCU 17
SF21 LQu 15
9423 STL 15
of éé& STL 15
CYFI: STL 10
9721 TOL 16
g9/28 TCL 13
%728 D TOL 14
9730 cOoL 17
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